
Written Test 2

Review Q&A

Call by Value, Caller vs. Callee
assertSame vs. ==
Modelling Diagram of Aggregation
Catch-or-Specify Requirement
Short-Circuit Evaluation



Call by Value: Re-Assigning Reference Parameter 
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Caller vs. Called

class Course class Student &
Course[] CS =

string name ; int not ;
3 void register

(Course c)E-- -33

called : Student register
class SMS & caller : SMS . register81
Studenti] sS =

vid registerAll (Course C) Student
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Testing Equality of Points in JUnit: Default vs. Overridden
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public class Object {
   ...
   public boolean equals(Object obj) {
      return this == obj;
   }
}

extends

public class PointV1 {
   private double x;
   private double y;
   public PointV1 (double x, double y) {
      this.x = x;
      this.y = y;
   }
}

public class PointV2 {
  private int x; private int y;
  public PointV2 (int x, int y) { ... }
  public boolean equals(Object obj) {
    if(this == obj) { return true; }
    if(obj == null) { return false; }
    if(this.getClass() != obj.getClass()) { return false }
    PointV2 other = (PointV2) obj;
    return this.x == other.x 
          && this.y == other.y;
  }
}
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container Contained
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Student
, by aggregation , has 3 aggregation relations.

zero or more course objects
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this. persons [i] . firstNane . equals (otherpersons[] · firstName
String version.
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